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Correct shape – if t axes not labelled then 
assume sketch is from 0 to 10 (ignore sketch 
after 10 if labelled)  
 
 
 
Correct values labelled on axes   
 
 

 
 
 
 
 
 
 
 
 
Condone axes not 
labelled with v 
and/or t  
 
Condone origin not 
labelled 
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7 (b)  1
2 4 '6' 6 '6'     or   1

2 10 6 '6'   M1 1.1a 

Triangle & rectangle or trapezium (oe) with 
their velocity (which must be positive) – allow 
if 36 and 12 seen (provided these values are 
not subtracted) 

or suvat twice 

   48 m A1 1.1 
Units not required and condone incorrect 
units throughout mechanics section  
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